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Question 1: Simplify: -a — —3— _|__AL - 2y - 3‘Lé +4q
32 ab b2 2 2
A" b

[3]

Question 2: Solve for x: 2x*>+ 7x = 4
2% %F x- 4 =0
2X % §x ~ Y—f =0
2x(x+4) —( X ¢4 ) =0
(ax—1)( x4 ) =o
2A- =0o \ ;-4,(

x=

Z [3]

X 2
xX2+x—2 x2—5x+4

x 2,

e —————:

)

. x(x) — 2x*2)
() (x02) (<)

= _’KL__’_QZ,:iL_——-—J
(1) (x+2) (x4)
N

Question 3: Simplify:

(l

[4]
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tion 4: Simplify:
Question implfy:  ~5=— < ___B_Q__
A

J3la

[3]

Question 5: Rationalize: v/x? 4+ 3x +4 — x . Xl-h) xtyY =+ X

/
jx2’+3 x“/—g X

PR
= Xe3xtd —x

L
\.))( e x Y X

— 3x+Y
2 L
&-Ux-#“( X 14]

Question 6: Find an equation of the line passing through the point (2, —7) which is perpendicular to the line
2x+5y—-8=0. )
paa’ E%{/(a—ﬁo"’\ ;S

Y=go= V1 (-0

‘g"““-—-.%—kg
e K xaﬂ

2% +S'é“8 =

co VA =
<
oo 0'94& %?a( S—C,u'(Q/\/
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Question 7: Determine tan (4m/3) — cos (—m/4)
43
(z )z )

NN

1,

7

" o () - cos (73]

F-g

i

——

/
(5)%)
~-TYy. L
2 eos ( "l)‘_)'i
[3]
Question 8: If cos(f) = —1/3 where m < 6 < 37/2 then determine csc (6)
Cos(e/)-—_z l
oo CS(’(&) "'-—-"""""" :E"""
Y JE
e
- (D
s
{ J
-
Palix >
3-1 -
=J§ (l)‘ﬁl) [3]
Question 9: Find all values of x in the interval [0, 2] for which 25sin*(x) +sin(x) =1 .
2 .
Zsin(x) tswm(x)—| = O
\ )
sin () = =L TP H(=)
2.(2-) . “E
' oox= I 5w g |
Sin (x)= —L £3 Y e )7 J
I
: . : _ 1
s (x) = "7 Sin (x) >
o = < = 1L _§T
X= 355 A= Lo [4]
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Question 10: Determine the domain of f(x) = v/3 — x sin (%) .
(e W«‘G‘M"‘L 3Ix >0 awdd x= > O

o

oo 14X &3

x> |

SO QQMM

(s (43,

[3]

4
uestion 11: Find functions f, g and h so that f(g(h =
Q I unctl g 0 (g(h(x))) 1+/x-1
(There are several possible correct answers. Do not let h(x) = x.)

Lt hog= %~ o (%) Jn=1
4= Vx' [+ X

500

o
fx) = i frx) =
[+ X

il

{i

[3]

Question 12: Let f(x) = x+4 and h(x) = 4x — 1. Find a function g so that go f = h

@): 4/%~F:l

[4]
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Question 13: Evaluate the following limit, if it exists:

1

(X/\«m X\ . ’)C('}l +T

A Jxe3'-2 e

I

b ) XT3+

x>\

‘ xXt3 =4
= b (o7 +2)

X2 |

- @

=

Sep 25 2017

[3]

Question 14: Evaluate the following limit, if it exists: lim

- Wy
x+3 — O

x+-3Xx2+4x+3 = O

= Lo

)i

%273 feer)(x1)

= |
pA

[3]

Question 15: Evaluate the following limit, if it exists:  lim

x—0

=0 X\ x| x-+{

X0 ;(

o——

\
A0 ¢

K+ Ky )

) x+ )
2oz

=3

&~ )(x~u\

[4]
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